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Question: 1
An administrator wants to apply tags to licenses to simplify future renewals.

What interface would be used to complete this operation?

A. Clusters in the Support Portal

B. License Inventory in the Support Portal

C. Prism Central Licensing

D. Prism Element Licensing

Answer: C

Question: 2
An administrator is conducting updates in a Nutanix cluster and is being prompted for handling non-

migratable VMs.

Which VM type is non-migratable?

A. VMs without NGT

B. VMs marked as an Agent

C. Memory Overcommitted

D. VMs O VMs with attached Volume Groups

Answer: D

Question: 3
An administrator receives the alert:

What is the most likely cause?

A. Other nodes in the cluster may not have enough resource available.

B. Another node in this cluster is already in maintenance mode.
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C. This node in the cluster is already in maintenance mode.

D. This node in the cluster may not have enough resources available.

Answer: B

Question: 4
When multiple Alert policies are applied to an entity, which will take precedence?

A. Policy are applied to a specific entity type.

B. Policy are applied to all entities of an entity type.

C. Policy are applied to an entity type in a category.

D. Policy are applied to an entity type in a cluster.

Answer: A

Question: 5
On a newly-deployed AHV cluster, what is the default virtual switch (vs0) uplink bond type?

A. Balance-SLB

B. Active-Backup

C. Balance-TCP

D. No Uplink Bond

Answer: B


